
Kobold Angol Intermediate 3

1 Complete the sentences with an appropriate word. Write only one word in each space.

a. Napoléon won many great battles, ________________________ the battle of Marengo, which was one of his first 

victories.

b. In Britain you have to  ________________________ A-level exams to go to university.

c. Mary is engaged ________________________ Paul, which means they are going to get married.

d. When you first meet somebody and tell him/her your name you ________________________ yourself.

e. A school year is divided into two ________________________.

f. The teacher warned us not to be late ________________________ school again.

g. Allianz Hungária is an important ________________________ company.

h. Peter is ________________________ a postgraduate course ________________________ management.

i. When Mr Apple was younger he ________________________ to drink a lot but now he is so weak that he cannot 

even lift his glass up.

j. I’m sorry we missed the beginning of the film. We ________________________ to have been there earlier.

k. In my ________________________ English classes are not only interesting but they are also useful.

l. My friend always tells the ________________________. He never lies.

2 Complete the sentences with both, both of, neither, neither of, nor, either.

a. _____________________ dogs are hungry.

b. ‘Would you like coffee or tea?’

‘_____________________ is fine, thanks. I like them _____________________.’

c. _____________________ us have cats, and my brother has a dog too.

d. Peter isn’t here today. John isn’t here _____________________.

e. _____________________ us feels well and we have _____________________ got headaches.

f. _____________________ James _____________________ Jim likes basketball.

g. _____________________ Archibald and Rachel can play the piano.

3 Translation.

a. Két kutyánk van, és mindketten nagyon szeretnek úszni.

__________________________________________________________________________________________________________

Akár Morzsi, akár Cézár át tudja úszni a Tiszát. 

__________________________________________________________________________________________________________

b. Egyik szülőm se szokott suttogni, amikor alszunk. 

__________________________________________________________________________________________________________

c. A bicikli akármelyik kereke lapos lehet, nem látom jól a sötétében. 

__________________________________________________________________________________________________________

d. Melyik lábamat használhatom? Mindkettőt, de valamelyiknek a padlón kell maradnia. 

__________________________________________________________________________________________________________

e. Ha megveszi ezt az új modellt, akkor futáskor mind a bal, mind a jobb lábát fogja tudni használni. 

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

f. Nem találkoztam se Joellel, se Helennel tegnap este. Azt hiszem, nem voltak moziban. 

__________________________________________________________________________________________________________

__________________________________________________________________________________________________________

g. Se Joel, se Helen nem ment moziba tegnap este, inkább otthon maradtak angolt tanulni. 

__________________________________________________________________________________________________________
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Key

1

a. including

b. take / pass

c. to

d. introduce

e. terms

f. for

g. insurance

h. doing; in

i. used

j. ought

k. opinion

l. truth

2

a. Both

b. Either; both

c. Both of

d. either

e. Neither of; both

f. Neither; nor

g. Both

3

a. We’ve got two dogs and both of them like swimming very much.

Either Morzsi or Cézár can swim across the Tisza.

b. Neither of my parents whisper when we sleep.

c. Either of the tyres of the bicycle can be flat, I can’t see it well in the dark.

d. Which of my legs can I use? Both, but you should/have to  keep either of them on the floor.

e. If you buy this new model, you will be able to use both your left and your right leg for running.

f. I didn’t meet either Joel or Helen yesterday evening. I don’t think they were in the cinema.

g. Neither Joel nor Helen went to the cinema yesterday evening, the stayed at home instead to study English.
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